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$$ \hat{f}(\omega) =$$ \hat{f}(\omega) =$$ \hat{f}(\omega) =

\int_{-\infty}^\infty\int_{-\infty}^\infty\int_{-\infty}^\infty

f(x)e^{-2\pi x \omega} \,dxf(x)e^{-2\pi x \omega} \,dxf(x)e^{-2\pi x \omega} \,dx
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Code Block

class BST:
  def __init__(self):
    self.root = None

  def search(self, key): # iterative search
    cur = self.root
    while (cur != None):
      if key < cur.key: cur = cur.left
      else if key > cur.key: cur = cur.right
      else: return cur
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Markdown Table

ID Date Intensity Di�usion

23 2017 Jan 3 17.3 0.238

83 2017 Feb 5 87.2 0.022

39 2017 Mar 1 219.0 0.912

12 2017 Apr 2 5.2 0.465

65 2017 May 2 1022.6 0.663
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